 
	
	 
	Sport Science Level 1/2 (J802, J812)

R041 LO1 Test
	[image: ]

	
Please note that you may see slight differences in font and formatting between this paper and the original. The difference does not impact how the questions should be interpreted

Materials required:
•   Pencil
	

Duration: 30 mins     
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INSTRUCTIONS 
•   Write your name, in the boxes above. Please write clearly and in capital letters.
•   Use black ink. HB pencil may be used for graphs and diagrams only.
•   Answer all the questions, unless your teacher tells you otherwise.
•   Read each question carefully. Make sure you know what you have to do before starting your answer.
•   Where space is provided below the question, please write your answer there.
•   You may use additional paper, or a specific Answer sheet if one is provided, but you must clearly show the question number(s). 
INFORMATION 
•   The number of marks is given in brackets [ ] at the end of each question or part question.
•   The total number of marks for this paper is 30. 

 
	 
	
	 
	
	

	1(a).
	Describe how the following extrinsic factor can influence the risk of injury to a sports performer.

Equipment 
 

 

[1]
 






 
	
	 
	
	

	  (b).
	Environmental factors 
 

 

[1]
 






 
	
	 
	
	

	  (c).
	Coaching/supervision 
 

 

[1]
 







	
 
	
	 
	
	

	2.
	Lordosis is one cause of poor posture that can contribute to sports injury. List three other causes of poor posture.
 
	(a)
	 

	(b)
	 

	(c)
	 


 
	 
	[3]


 







	
 
	
	 
	
	

	3.
	Describe two different ways that weather could influence the risk of injury.
 

 

 

[2]
 







	
 
	
	 
	
	

	4.
	 Give one item of sports equipment which may cause injury.
[1]
 







	
 
	
	 
	
	

	5.
	Using practical examples, explain what environmental factors a hockey coach should consider when planning a cool down.
 

 

 

 

 

 

 

[3]
 







	
 
	
	 
	
	

	6.
	Describe how previous injuries can increase the risk of injury to a sports performer.
 

 

 

[2]
 







	
 
	
	 
	
	

	7.
	Name three different sports in which a protective helmet may be worn by the performer.
 
	1
	[1]

	2
	[1]

	3
	[1]


 







	
 
	
	 
	
	

	8.
	Psychological factors can increase a performer’s chance of sustaining an injury.
Which one of the following is not a psychological factor? (Circle your chosen option to indicate your answer).
 
	(a)
	Motivation

	(b)
	Anxiety levels

	(c)
	Aggression

	(d)
	Sleep

	[1]


 







	
 
	
	 
	
	

	9.
	Having poor body posture in sport can cause injury.

Explain how the following can contribute to poor posture:

Lack of confidence 
 

 

[1]
 







	
 
	
	 
	
	

	10.
	Identify two aspects that would be checked during a risk assessment.
 
	(a)
	 

	(b)
	 

	[2]


 







	
 
	
	 
	
	

	11.
	Explain how the type of activity undertaken can increase the risk of injury in sports.
 

 

[2]
 







		
	 
	
	

	12.


  (a).

	Describe what is meant by each of the following medical conditions: 
 
	Scoliosis
	 

	 

	 


 






	
		 
	

	  (b).
		 Lordosis
	 

	 

	 


 






	
		 
	

	  (c).
		 Kyphosis
	 

	 

	 


 






	 
		 
	

	  (d).
		 Pelvic tilt
	 

	 

	 


 






	
	 
	
	

	  (e).
		 Round shoulder
	 

	 

	 



 
	 
	[5]


 







		
	 
	
	

	13.
	Poor sitting, standing and sleeping positions are causes of poor posture.

Identify two other causes of poor posture.

1
[1]

2
[1]
 









END OF QUESTION PAPER




Mark scheme
The examiner comments shown in the “Guidance” column of the mark scheme are taken from the relevant Examiners’ Report. N.B. Examiners’ comments are not available for all questions. 
 
 
	Question
	Answer/Indicative content
	Marks
	Guidance

	1
	a
	
	One mark max for each description from the following:

Equipment:
- Use of or lack of or malfunction / broken protective equipment (e.g. shin pads needed in football to help prevent lower leg fractures)
- Correct performance equipment required / using incorrect / wrong equipment

(e.g. rock climbing harness to prevent falls)

- Equipment lying around / inappropriately placed
- Suitable clothing or footwear for that particular sport (e.g. studded boots in football to prevent slipping)
- Equipment protectors can prevent injury e.g. post protectors
	1
	The candidate does not have to give an example but may do so to help in the description.


Accept opposites


A maximum of 1 mark for each factor described.
Give marks for the equivalent.
A description is needed as to why each is used.


Allow broken equipment
Do NOT accept handling equipment incorrectly / being hit by the ball or other equipment
Do NOT accept examples of protective equipment on their own

Examiner’s Comment
For each part of this question, learners are asked to describe the named extrinsic factors that can influence the risk of injury. Some learners misread the question and just described or named the factors alone without linking them to possible injuries. For any question that uses the word 
‘describe’ learners are expected to give more than one or two words to score marks. The better learners recognised equipment, environmental and coaching factors that could influence injury.

	
	b
	
	One mark for:
Environmental factors:
- Weather being too hot leading to such things as sunburn / heat stroke or too cold / raining/snowing / foggy
- Playing surface, performance area or surrounding area (e.g. broken bottles etc) hard floor / icy / wet / uneven/pot holes
- Other participants (e.g. too many people for the size of the area)
	1
	Description required to gain the mark rather than a simple identification.

Accept opposites

	
	c
	
	One mark for:
Coaching or Supervision:

- Poor or incorrect coaching techniques
- Not checking the area / equipment
- Poor communication
- Lack of adherence to rules and regulations
- Lack / wrong knowledge of medical conditions
- Inadequate attention / not looking
- Encouraging (too much) aggression / foul play
	1
	Do NOT accept inadequate supervision / coaching

Accept opposites

	
	
	
	Total
	3
	

	2
	
	
	Three marks from the following:
- (Poor) stance / gait (e.g. bending your knees or hunching your shoulders when stood up)/round shoulder
- Sitting positions (e.g. slumping / slouching on the sofa rather than sitting upright) / sleeping position
- (General) physical defects (e.g. muscles weaken around an injured area) / muscular imbalance
- Lack of exercise (e.g. lack of core muscle strength means less support; being overweight puts strain on posture)/overweight / obesity
- Fatigue (e.g. tired muscles will be unable to support the skeleton properly)
- Emotional factors (e.g. having low self-esteem / lack of confidence can influence posture)
- Clothing / footwear (e.g. wearing shoes with high heels can affect posture)
- Pelvic tilt
- Kyphosis
- Scoliosis
	3
	Candidate purely needs to list the answer – no description required.


Lordosis, Kyphosis and Scoliosis can be a cause of poor posture as well as an effect as can often be congenital or idiopathic rather than caused by trauma / injury.
















Examiner’s Comment
Learners often showed a good understanding of poor posture and most scored well by identifying accurately three causes of poor posture.

	
	
	
	Total
	3
	

	3
	
	
	Two marks for two from:
1. Increased risk of dehydration if hot / humid/sunny which can lead to a decrease in performance / fainting and collapse in extreme situations
2. (Risk of) sunstroke / heat stroke / burning if hot / sunny
3. (Risk of) accident / collision if sun / fog/hailstones gets in performers eyes due to participants running into one another or into an object such as a goal post.
4. (Risk of) hypothermia if weather very cold
5. Increased risk of muscle injuries in very cold weather as harder to get muscles warmed up leading to muscle strains and tears
6. Could slip or twist on playing surface/terrain if wet/icy/boggy causing bruising/cuts and grazes/concussion/broken bones
7. Hard ground (e.g. frozen or baked dry) could cause injury if you fall on it.
8. (Extreme) wind / gales may be more dangerous, (e.g. rock climbing, sailing).
9. Lightning dangerous for personal safety
	

1




1 

1 





1 

1 



1 




1


1


1
	Accept dehydration / sunstroke / hypothermia etc as injuries

Do not accept:
 
	 - 



- 
	Rained so pitch in bad condition
= vg ( no description of how weather can influence risk of injury)

Sun gets in your eyes = vg




	
	
	
	Total
	2
	

	4
	
	
	One mark for :
1. Hockey stick / ball / football studs / running spikes / cricket bat / ice skates / helmet
2. Football / rugby / hockey / netball posts
3. Ball / puck
	

1
	Give credit for other suitable examples
Mark the first example only
Do not accept:
 
	 
	- Unnecessary equipment = vg

- Football boots = vg
- Pads = vg






	
	
	
	Total
	1
	

	5
	
	
	Three marks for three from:
(Environmental factors) sub max 3
1. Weather – if too wet / windy then cool down for hockey may need to take place indoors
2. Temperature – if too cold / hot then cool down may need to take place indoors or in the shade
3. Available facilities – equipment / resources available or whether an indoor hockey area is available or availability of an Astroturf or enough hockey sticks / balls/cones etc are available
4. Available space / suitable surface / area – if plenty of space then cool down may consist of longer jogs or a variety of cool down stations or if no space then simple jogging on the spot or stretching
5. Surrounding area or anything else that may cause injury or influence cool down e.g. fencing around the hockey pitch
	





























3
	Each point made must have an associated practical example or practical scenario / application to score a mark

BOD if practical scenario is implicit eg fencing around hockey pitch can cause an injury = pt 5





Examiner’s Comments
In this part the term environmental needs to be clearly understood because too many candidates wrote about personal rather than environmental factors. Some candidates who clearly knew about the environmental factors scored few marks because they did not use practical examples in their answer.

	
	
	
	Total
	3
	

	6
	
	
	Two marks for two from:
1. Performing again too soon (can cause injury) or you over-work the previously injured part or it has not healed yet
2. The injury could cause (an inherent) weakness (leading to further injury)
3. The injury could cause the performer to perform differently or change to a poor technique
4. Altered posture (resulting from the injury, leading to further injury)
5. Muscle imbalance
6. Reduced decreased flexibility
7. Can cause psychological issues / stress / anxiety
	2
	Accept practical examples if description shows how risk of further injury can increase.
Examiner’s Comments
Successful candidates were able to identify inherent weaknesses as a cause for further injury but few scored the full two marks available for this question.

	
	
	
	Total
	2
	

	7
	
	
	Three marks from:
1. Cycling / BMX
2. Boxing
3. Skiing
4. Cricket
5. Roller skating / blading
	


3
	Mark first 3 answers only


Allow other suitable examples
Accept rugby (skull cap); motor sport; motor bike racing:
hockey; baseball; American football

Examiner’s Comments
Most candidates scored the full three marks available, using a range of different activities that require helmets for protection.





	
	
	
	Total
	3
	

	8
	
	
	One mark for the correct answer:

(d) Sleep








	1
	Examiner’s Comments
Although most candidates recognised sleep as not being the psychological factor that increases a performer’s chance of sustaining an injury, a surprising amount of candidates omitted the question and left it unanswered.


	
	
	
	Total
	1
	

	9
	
	
	Lack of Confidence
Leads to stress / poor awareness of posture;
Or leads to lack of motivation / not caring to sit / stand properly.
	1
	

	
	
	
	Total
	1
	

	10
	
	
	Two marks for two from:
1. Equipment / facilities
2. Jewellery
3. Weather or temperature
4. Participants’ age / health / medical conditions / previous injuries
5. Participants’ clothing / footwear or protective equipment
6. Environment / (playing) surface / floor or surrounding area or litter
	














2
	Accept examples if valid: eg check if goal posts are safe = pt 1

Check if participant has inhaler = BOD pt 4

Move clothing / footwear = vg pt6
Safety hazards = vg pt6
Check floor for obstacles / clothing = pt 5


Nothing to slip on / nothing to fall over 
= vg pt6
Wet or dry (surface) = BOD pt 6


Examiner’s Comments

Many candidates could identify at least one aspect that would be checked during a risk assessment, showing that centres had prepared candidates well on this topic.

	
	
	
	Total
	2
	

	11
	
	
	Two marks for two from:
1. Contact sport
2. … because of (bad / dangerous) tackles / collisions
3. Dangerous sports
4. … because of risk of fractures / falls
5. Striking sports
6. … because of being hit by ball / sticks / equipment
7. High impact / jumping sports
8. … because of damage / stress on joints
	












2
	One mark for type of activity
One mark for explanation / examples of causes of injury
Give a mark for explanation of cause even if type of activity is incorrect

Physical activity causes broken bones = vg Do not accept weather / environment



Examiner’s Comments

Candidates often responded to this question by simply referring to names of sports rather than types of activity, for example ‘rugby’ rather than ‘contact sport’. Candidates who identified both the type of activity e.g. ‘contact sport’ and how this can increase the risk of injury e.g. ‘because of dangerous tackles’, scored the full two marks available.



	
	
	
	Total
	2
	

	12
	a
	
	Five marks for five from: 
(Scoliosis) – A visibly curved spine / ‘S’ or ‘C’ shape / one shoulder higher than the other
	





















1
	One mark per correct description.
For points 2 – 3 look for location (upper / lower) and direction of curve (forward / back) to give a mark

Hunchback = vg for any points

Curving to the side = vg pt1
Curved spine = vg pt1

Lumbar section of the spine curves in = pt2 (Has the idea of location and direction)

Problem with lower / upper spine = vg 
pt 2/3
Curving at the lower of spine = vg pt2 (no direction of curve)
Butt stuck out or back curved in = vg pt2

Pelvis goes inwards = vg pt4
Anything relating to tilting = vg pt4

Anything relating to rounded = vg pt5
Shoulders pop out of back = vg pt5
Shoulders high towards cheeks = BOD pt 5
Circular shoulders = vg pt5
Bending forward = vg pt5

Examiner’s Comments

Most candidates scored poorly on this question. Whenever a question is set on this area of the specification related to posture and medical conditions candidates tend to struggle and therefore the teaching of this area should be reviewed and the main points in the mark scheme reinforced. Scoliosis is generally well understood but the other medical conditions less so - with many candidates simply leaving this question unanswered. It is important for candidates to describe the location of the medical condition e.g. where on the spine and the direction of the curve if the medical condition relates to curvature of the spine.

	
	b
	
	(Lordosis) – Forward / inward curving of the lower back / spine (so that stomach sticks out)
	1
	

	
	c
	
	(Kyphosis) – Forward / inward curvature / hunched / rounded at the top / upper back / spine
	1
	

	
	d
	
	(Pelvic tilt) – One side of the pelvis / hips is higher than the other side / hips not level or pelvis angled forward and back (compared to normal) or one side of the pelvis higher than the other or pelvis is at different angle (than normal)
	1
	

	
	e
	
	(Round shoulder) – Forward curve of the neck / hunching the shoulders forward
	1
	

	
	
	
	Total
	5
	

	13
	
	
	Two marks for two from:
1. Physical defects or previous injuries (e.g. muscles weaken around an injured area) or lordosis or pelvic tilt or kyphosis or round shoulder or scoliosis or muscle imbalance
2. Lack of exercise (e.g. lack of core muscle strength means less support or being overweight / obesity puts strain on posture
3. Fatigue (e.g. tired muscles will be unable to support the skeleton properly) or prolonged carrying / lifting
4. Emotional factors (e.g. having low self-esteem / lack of confidence / anxiety can influence posture)
5. Clothing / footwear (e.g. wearing shoes with high heels can affect posture)
6. Genetics (eg back condition / weakness that you are born with)
7. Age (risk of osteoporosis increases with age)
	





























2
	Do not accept sitting, standing or sleeping positions (in question)

Examiner’s Comments
Many candidates were prepared well for this type of question related to posture and were able to accurately identify two causes of a poor posture. A minority of candidates referred to sitting, standing and sleeping positions that were identified in the question. Again, candidates should read each question at least twice to understand what is required.

	
	
	
	Total
	2
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